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201 Let24d] 14,400 16,300 21,900
01 At 22l 14,400 15,300 A 900
Ogt+ZH| 9,600,000& 9,600
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OXEH SHUIx=Z &b 60,000,000 60,000
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01 M= bl 6,500 6,500 0
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401 Al Bl 28I 4,210,000 2,965,000 1,245,000
01 A& HI 4,175,350 2,940,520 1,234,830
Ostolithdl 2158 E=HL ALY 148,920, 000& 148,920
OBLUY ARK F&(S23EE)
148,920, 000& 148,920
O2FXHE 20| 99, 100,000& 99,100
OAEZ(3habl2t) =2l2td e FHAMY
99, 100,000& 99,100
OZXNFeME RN AIEE ESALY
397,120,000& 397,120
Ob® AR 22 HBHAL
198,560, 000& 198,560
O MEALZ (80HA) 49,460,000 49,460
O=g98 H2& JHAS(10MHL)
49,460,000 49,460
O=gIIEtAIE =2 THoH Ol AL 397,120,000 397,120
OL=: ClAld2 232 HESAY
297,840,000& 297,840
OdetE=29 =2 SN2 XA
198,560, 000& 198,560
OALZX SHUHEHE AX A (25400 &)
99,100,000& 99,100
OAFX 2sS=7 ZHYX 49,460,000 49,460
OLE0lE sgEx ZZWHIA
29,676,000& 29,676
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24,730,000& 24,730
O=5 HYLE 22 ZUIAY 29,676,000 29,676
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24,730,000& 24,730
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O&d 2ANE 22 ZHIEA 29,676,000 29,676
OEN LS E+2 FHIZA  24,730,000& 24,730
O3t AU E =2 ZFHIEA 19,784,000 19,784
Olilst =2 HHISA 39,568,000& 39,568
Og=s a2 FHISAM 29,676,000 29,676
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el =2lAIEE 2el (&)
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OLkcls E+=2 WHSA 39,568, 000& 39,568
Ok Ciels 8ti==2 EX3AM
39,568,000 39,568
OJTE & E==Z WHSA 19,784,000& 19,784
ONd E2Z MHEZA 19,784,000 19,784
OaxsE =2 HHIZA 24,730,000 24,730
Ooolitiel 22 WHSA 15,000, 000& 15,000
OZ4k =2 HHIZA 29,676,000 29,676
OHHd &8 Ex3AM 29,676,000 29,676
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OJr=tHl SEAE WA 29,676,000 29,676
OHE, LHMXN T sEE==g 29,676,000& 29,676
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50,000, 000% *1.08/100 540
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30,000,000% *1.08/100 324
OHEARK 222 WHBA(HUHE)
25,000, 000% *1.08/100 270
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,000
,000
,000

251,000

324,000




SN AL D
Ha: s&X%

SRl LB SHOE Y X N CERED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

|2t S0l CHEt A 2 & 2 & Ar 575,000 251,000 324,000
At 575,000
J

199,000,000& 199,000
139,000
18,000
42,000

RUN R

197,000, 000& 197,000
138,000
18,000
41,000
—EXXHOEUEII(AR0LS) 36,000,000& 36,000
25,000
3,000
8,000

Mo A

Mo A

143,000, 000& 143,000
100,000
13,000
30,000

Mo A

[=)
o
M
d0
o
0
oY
]
0z
o

375,000 360,000 15,000
263,000
35,000
77,000

Mo A

401 AIEHIZ 2 HYI 125,000 0 125,000

88,000
11,000
26,000

Mo A

01 A& HI 125,000 0 125,000
At 125,000
JI(¥=0t2) 87,000,000& 87,000
61,000
8,000
18,000
—EXH0S2ESI(&=121) 38,000,000 38,000
27,000
3,000
8,000

Mo =

EUN R

403 A X EHS K= 0l A 250,000 360,000 A 110,000
175,000
24,000
51,000

A

| 2t SOl CHEt Xt = & 9 & At HI 250,000 360,000 A110,000
At 250,000
JI(CHE0t=) 43,000,000 43,000

30,000
5,000
8,000

U R




5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
— S XMOISCHE D (M=D0LE)
207,000,000& 207,000
N 145,000
o=t 19,000
= 43,000
QLEISANHETINEAIE X 16,972 15,924 1,048
201 Bt 9,060 10,740 A 1,680
01 AP 22| H| 9,060 10,740 A 1,680
Ogbt4=24| 6,500,000& 6,500
Ol 2,560,000 2,560
202 044 6,912 5,184 1,728
01 2L HI 6,912 5,184 1,728
OLbtsAtHEAY SR2F4 6,912,000 6,912
301 et A= 1,000 0 1,000
09 SHAIAHI EAZ 1,000 0 1,000
O&EZd & 385 =48 1,000,000 1,000
FHAXNGMNE(SHE)(NSH=SMEH) 836,000 2,279,000 A 1,443,000
N 700,000
& 72,000
o 64,000
403 XX SRS K20 & 836,000 2,279,000 A 1,443,000
N 700,000
= 72,000
= 64,000
02 2| 2SO Uet A== EAIS Y 836,000 2,279,000 A 1,443,000
OXNSLNMELHZ HAS 836,000
—SEFATNIMEHHAIPZAL (AKX T A
£08) 836,000,000& 836,000
Xl 700,000
= 72,000
= 64,000
HEM2AAH (AL W) 24,580 25,180 A 600
Jl23 | 24,580 25,180 A 600
Jl2 &4l 24,580 25,180 A 600
201 et d| 10,180 10,180 0
01 AP 2t 2] H| 10,180 10,180 0]
Ogttf=2y| 10,180,000& 10,180
202 04 H| 10,800 10,800 0
01 2Ll 10,800 10,800 0
OBMSY (A, HOIL, fF32s &4 5)
10,800,000& 10,800
203 &R F & 3,600 4,200 A 600
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4,200 A 600

3,600
3,600
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